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1.
(a) Fill in the blanks ¢ 1x4=4
(i) The initiation ceremony  Of
the Buddhist period

education in
was know1l as

—

of 1813 provided a

(i) The Charter Act
rupees — annually for

(iii) The East [ndia Company came to
India in the year — -
(iv) Simon Cornrnission was appointed
in the yeal —
( Turm Over )
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(b} AHSWer 1
n one word each :
; 1x4=4

() What i

- s the ;

Institution of nan:}(i of higher
e

education? Muslim

1, Who wa
(} S the Cheurman of th
€

Calcutta y
Universi
of 19172 versity Commission
(iii) 1 ;
) élo WhIICh year was tha
i mmittee appointed? Hartog
ll} In wh. &
. ich year did the gr
1a take place? great revolt of

4x5=20

Characterist;
; eristics of Muslim Ed i
(b) Lord Bentinck’ e

(c)
(d)

2. Writ
e short noteg on the fo]]
owing :

(a)

ot S Educational Policy
Natlonalism in Indi
a

Govern
ment of India Act of 1921

Hartg
g Committee Report

Yy the Curricul

teaching of
Budqg um and method of

cation. 5+5510
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4. What were the recommenda

e
(3)

tions of Wood’s
4? Write briefly on the

Despatch of 185
the recommendations.

implementation of
7+4=11

Or

Anglicist-Classicist

Lord Macaulay’s

in bringing the

rsy to an end?
6+5=11

What is meant by the
controversy? HOW was
Minute instrumental

AngliCist—Classicist controve

ain recommendations of
alofl 820t primary
pact on Indian

7+4=11

What were the ™
Hunter Cornmissio
education? What was

education?

its im

endations of the Indian

Discuss the recomil ‘
University Commissio? of 1002 and its
impact on [ndian Education. 7+3=10

Or

rtant features of

e the causes
6+4=10

What were the impo
o i Do oL
of rejection of Gokhale’s Bill*
main suggestions of Wardha
.on. What were the

Educatl
Basic Education?
6+4=10

Write the
Scheme of BasiC
causes of the failuré of

* KK
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